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𝑉 → ∞
𝑁 𝐺𝐶𝐸 = 𝑁𝐶𝐸



𝑉 → ∞
𝑁 𝐺𝐶𝐸 = 𝑁𝐶𝐸

𝑉 → ∞



∆𝑌𝑡𝑜𝑡𝑎𝑙 ≫ ∆𝑌𝑎𝑐𝑐𝑒𝑝𝑡 ≫ ∆𝑌𝑘𝑖𝑐𝑘 , ∆𝑌𝑐𝑜𝑟𝑟

∆𝑌𝑡𝑜𝑡𝑎𝑙 ≫ ∆𝑌𝑎𝑐𝑐𝑒𝑝𝑡



⟹

𝜅3/𝜅1 𝜅5/𝜅1 𝜅4/𝜅2 𝜅6/𝜅2

𝑁𝐵 = 400, 𝑁 ത𝐵 = 100 𝛼 ∆𝑌𝑎𝑐𝑐𝑒𝑝𝑡/∆𝑌𝑡𝑜𝑡𝑎𝑙
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𝑉1 + 𝑉2 = 𝑉

෡𝐻 = ෡𝐻1 + ෡𝐻2 + ෠𝑉1,2 ≈ ෡𝐻1 + ෡𝐻2
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𝑉 → ∞ 𝑍𝑐𝑒

𝐵1

𝜅𝑛 ෤𝜅1[𝐵1 𝑡 ]

𝐵1



𝐵1/𝑉
𝐵1(𝑡)

෨𝑃(𝐵1; 𝑡) 𝐵1(𝑡)

𝐵1(𝑡) 𝑑 ෨𝑃 𝐵1

𝜌𝐵1 = 𝜌𝐵2 = 𝐵/𝑉 𝐵1 = 𝛼𝐵



𝜿𝟔

𝛽 = 1 − 𝛼



𝛼 𝜒𝑛
𝐵

𝜅4



𝜒2𝑛
𝐵 ∝ 𝑁𝐵 + 𝑁 ത𝐵 𝜒2𝑛−1

𝐵 ∝ 𝑁𝐵 − 𝑁 ത𝐵

𝜅4/𝜅2 𝜅6/𝜅2

𝛼
𝑁𝐵 = 400, 𝑁 ത𝐵 = 100





𝜅𝑛[𝑁]

Finite system

𝑁0 → ∞

𝜉



𝑇𝑐ℎ ≈ 155
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𝐵/𝜒2
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𝜒4
𝐵/𝜒2

𝐵 𝜒6
𝐵/𝜒2

𝐵

𝛼 > 0.2
𝜒6
𝐵/𝜒2

𝐵 𝛼 ≤ 0.1

𝛼 ≈ 0.1 Δ𝑌𝑎𝑐𝑐 ≈ 2(1)



•

•

• 𝜒6
𝐵/𝜒2

𝐵

𝛼 ≈ 0.1
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Thanks for your attention!


